— 1 gy A1 :8S=1/30
MEME/KE SsSOm EBIE(R A3 :S5=1/60
&£ K E v FH=505mm
W i 1] A1
(A-A)
200 100 12605 100
100 1100 2053 8699 2053
o=
. D13 \ D13 o 2| §
] &~ ;\‘ ;“ =
t t l
C | | C ~
| | '\
= o L,,,, e Kl sl el sl s e el sl el sl sl ] el sl e el il e e el sl Ml sl s Bl el ****J gl N
N ‘ ‘ g ;i:\ )
! [ RN #
! ) ‘ ‘ S e NN B
o = * * T RE NS
S | | N
S 3 - | Ll | . A 5
— | D I H I I H | D —— [Aai
r 1T L,,,,, ,I,,,,\‘,, I,,,,,,,,,,,,,,,,, 1T 1-_EL 1 -—F T d-1—F ,I,,J‘,,,I, ,,,,J \%ﬁ;
HiRER] e\l
B Sl | i | | i | = S
F o - | i - | . | *
‘I ' | ‘i ‘i ) _ﬂ\
(e} o (w)
& 600 | | 200 2 A;‘ HERE Y R . B;‘ N gl
75 D13@2501F 75 5| &%
800
12805
) BRI IC N T A20 v F LU TFIZT 5,
Wr i (%]
(c-C) D13 D13
i 1 (X 2 =
(B-B) o i S S|&
S ‘ 2 7 [ = SR
- Y N
(]
()
gl D13 D13 B
D-D
0zp S =
‘ T T T 7T z L T 7T 1 71 71— |7 ! § g—
(] (]
N 2 2 T T 1T 1 (o e e e § %E;
2 1 1 1 1 1 1 1 1 1 1 o %A iﬂﬂ
= S % N
g N 200 1200 200 N o
= 1600 32 S
a e 2
S |
900 1453 1200 7499 1200 1453 900 f\\\
i S0 ‘ ‘ A ]\
)
, o 777%777777 7 77777 7. 7 777[ st
100, /1100 L L 3 L L s §“<ff 4
200 ‘ \ BB 200
7z B 2 30 o 2z 7
TR g7 J—F 200
75§80, 73m’ KL 9 ML BB AILOMBIZ L > TEETX 5,
A % B |
[ AR AR Som i -
T-KNT80T2-D5-RC % | THEETERT KR \ B {7 | mm | SCALE R e s 4 m | DY meesn B
A TR %[ Wi | AR | 8L




